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X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ESMEHZ XA 758,500 751,100 7,400
202 (4] 20,000 0 20,000
04 =Ml st Bl 20,000 0 20,000
ONEA 2 =AM 22=(2HEE) 20,000
301 dEtE A= 725,000 737,000 A 12,000
01 AL B & & 2352 725,000 737,000 A 12,000
OsdXE3 675,000
ESAMXNFZ2(HMOL) 500, 000& *250H 125,000
EMXZ2(S MO 1,000, 000& 200 200,000
ZE AT 2 (A RO 3,000,000& *90H 270,000
EAMX2Z2 (YOI 4) 4,000,000 »20H 80,000
ONEXIXNEZ 500,000& =100 50,000
307 212t01 & 13,500 14,100 A 600
01 2L 2= H| 13,500 14,100 A 600
OFEole HAXIRY NAS
300,000& 159 »3& 13,500
ENEYH 2RI =M 283,500 0 283,500
201 LEt2 A Y| 9,000 0 9,000
01 At 22l Yl 2,500 0 2,500
OsdEH E22 HE 2Y 2,500
03 AL H I 6,500 0 6,500
OE4h &gt A 23| 6,500,000& 13| 6,500
301 dEtE A= 274,500 0 274,500
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QAo HAZCIAF IHA 28222 X (8
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OA/t2 A MO A2l AF K& 183,000
CHEH OF 600, 000& *294H 176,400
C}EH OF 1,000,000& x5 5,000
&HER OF 1,600,000 x1H 1,600
09 HAIAH EA=S 1,500 0 1,500
OSA&EGE# AL A A 100,000& *154H 1,500
1M IIEtE &2 36,000 0 36,000
OdlMOob EtM =g AFR M X HI &
20,000& *3004H 6,000
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A AL OF21 2 2H2I KT 2l A 120,887 90,534 30,353
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T 12,088
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= 12,088
Al 12,089

05 QIZ2tR E 2 120,887 90,534 30,353
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= 35,403
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OgR0t AHZXN =2H| 1,542
J| 1,234
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Al 80
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MY MEEH HHS S8 AYEA
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Al 4,000
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Qa2 (BAHRA Edh)
900,000& x12& 10,800
O &&= 500,000 x12& 6,000
202 04| 169,800 172,500 N2,700
01 2LHHI 58,800 58,800 0
OBAHAAMY LR=A 58,800
02 MY 111,000 113,700 AN2,700
OBAHAX A EHNH|
((150,000& 20X )+(200,000& x2H )+(225,000 62,400
28y ))x12¢
OBAXEBA AL
((150,000& 172 )+(200, 000 »3H )+(225,000 48,600
x4 ) )x 128
203 AR E= Ul 19,870 19,870 0
01 J|22H L R=AH| 3,300 3,300 0
OJ|22H YR =&Y 3,300
02 RIS R = XIH]| 4,450 4,450 0
OFAINAMARFEY| 4,450
04 2SI L RF=AH| 12,120 12,120 0
ORA2EYERFAH| 12,120
24X &t 7,920
A2 ME) 4,200
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